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Abstract  

 
This research addresses the importance of Supplication in the Call for 

Allah, its effect in answering the Call, and the resultant benefit which 

reflects on the Caller. Supplication is of multiple forms. It might be in 

favor of non-Muslims to enter in Islam. Or it might be in favor of 

Muslims to be purified from their sins, to be firm on their religion, or 

to be supported in their obedience of Allah. This research reveals the 

of care taken by our prophet Muhammad – peace and blessings of 

Allah upon him – in all forms of supplication. It also reveals the care 

of other prophets - peace and blessings of Allah upon them – in this 

respect. Supplication is an important matter in calling for Allah. it 

must not be overlooked by persons who are involved in the Call for 

Allah. It could be reason to ease relentless persons and to unlock 

blocked hearts. 

 

Also, the research indicates that it is permissible to perform 

supplication in favor of the polytheists, even if they were fierce 

enemies to the believers so that they may be directed to the right 

course. Supplication for other purposes, such as mercy, forgiveness, or 

the like is not permissible. These supplications apply only to Muslims. 

Supplication against the polytheists may only be made when the harm 

caused by them increases and their blades become sharper. 

   
  


